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In answering the following question, I recommend building an arbitrage table like we did in Chapter 3/
isn’t necessary but will make working the problem easier. Answer the questions on a per-share basjs.

1% per year. What set of transactions today would generate an arbitrage profit for you g6day? What profit
would you earn today? What cash flows would each of your transactions creatonths from today if
Google’s stock price ends up at $600 per share in six months? How about if Google’s stock price ends up at
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